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I. Choose the word whose underlined part is pronounced differently from the rest. (1 point)
1. A. curly
B. bury
C. hurt
D. nurse

2. A. recommended
B. enjoyed
C. recognized
D. arrived
3. A. book
B. pool
C. school
D. soon

4. A. dials
B. calls

C. talks

D. plays
II. Complete each sentence with the appropriate form of the word in parentheses. (1 point)
5. Her appearance is ………today. She shouldn’t come.                                           (need)
6. A person who is interested in conservation is a ……………                                 (conserve)

7. His health was seriously affected because he suffered from constant ……..…     (sleep)

8. Some friends arrived …..… last night, so we all went out for dinner.                   (expect)
III. Choose the word/phrase ( A, B, C or D ) that best fits the space in each sentence.  (3 points)
9. If the product were not safe, we ____________ it.


A. don’t sell

B. sold
C. would not sell

D. will sell

10. The train from Madrid arrives ___________ noon.


A. on

B. over
C. in

D. at

11. We avoid ____________our environment.


A. polluted

B. polluting

C. to pollute

D. pollute

12. “Are you doing anything on Friday?” - “__________”


A. I agree.

B. No problem.
C. Not really.

D. Why not?

13. If people ___________ energy, there will be no shortage of electricity.


A. destroy

B. waste

C. use

D. save

14. Imagine someday you would live without ___________.


A. electricity
B. electric
C. electrician
D. electrical

15. “I’m sorry I was stuck in a traffic jam.” - “___________.”


A. Never mind
B. Don’t apologize
C. OK, we’ve just started
D. My pleasure

16. A tornado looks like a big, dark ___________ coming from the bottom of a storm cloud.


A. funnel

B. bowl

C. cloud
D. Mushroom

17. Where’s your home village? - _________ the East of the city.


A. On
B. In
C. To
D. At

18. They differ _________________ each other so much.


A. with
B. to

C. from

D. of

19. She wants to buy the new dress._________________, it is very expensive.


A. However
B. Therefore

C. But

D. Although

20. I don’t like using the Internet because it has some _________________.


A. benefits
B. advantages

C. conveniences

D. limitations

IV. Mark the letter A, B, C or D to show the underlined part that needs correcting. (1 point)
21. Your friends went to your native village last weekend, weren’t they?

             A                                         B           C                           D                   

22. I asked him how far was it to the station if I went there by taxi.

         A                            B                             C                          D

23. She will pay less but she uses two energy-saving bulbs. 

                    A 
   B     C 
                                D

24. The questions which the teacher wrote on the board was not easy. 
                                A 
                          B    C 
D 

V. Choose the word among A, B, C, D that best fits the blank space in the passage. (1 point)
Our demand for water is constantly increasing. Every year there are more and more people in the world. Factories turn out more and more products and (25) _______more and more water. We live in a world of water. But almost all of it - about 97% - is in the oceans. This water is too salty to be used for drinking, farming, and manufacturing. Only about 3% of the world's water is fresh. Most of this water is not easily available to man (26) _______it is locked in glaciers and icecaps.


There is as much water on earth today as there ever was or will ever be. Water is used and reused over again. It is never used up. Although the world as a whole has plenty of (27) _______ water, some regions have a water shortage. Rain does not fall evenly over the earth. Some regions are always too dry, and others too wet. A region that usually gets enough rain may suddenly have a serious (28) _______and another region may be flooded with too much rain.

25. A. need

B. must

C. should

D. necessitate

26. A. so that

B. because

C. though

D. even if

27. A. salty

B. new


C. clean

D. fresh
28. A. flood

B. drought

C. famine

D. abundance

VI. Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the best option to answer each of the following questions. (1 point)
New York has Central Park; London has Hyde Park while Kuala Lumpur has its own piece of green belt amidst the hustle and bustle of city life. It's an ideal place for a leisurely stroll in a tranquil setting, all without having to leave the city. The Lake Gardens was created by Sir Alfred Venning, who persuaded the ruling government to allow him to turn a swamp land into rambling trails with man-made lakes, spanning 60 hectares. However, as the city expanded, the Lake Gardens reduced in size. But it is still a sizeable area and boasts of more than just grass and water within its grounds. For example, the gardens incorporate the National Monument, Bird Park, Hibiscus Garden as well as Malaysia's Parliament House. Additionally, Carcosa Seri Negara is on a hilltop overlooking the Lake Gardens. Today, the nineteenth-century British colonial mansion has been converted into an exclusive hotel.

29. According to the passage, what do New York, London and Kuala Lumpur have in common?


A. They each have a lake in the city.


B. They each have a swamp land in the city.


C. They each have a park in the middle of the city.


D. They each have a 60-hectare garden in the city.

30. In the Lake Gardens, you can visit the following spaces EXCEPT _______.


A. Hyde Park



B. the Bird Park


C. the Hibiscus Garden

D. the National Monument

31. Over time, the Lake Gardens has become smaller because_______.


A. it is swampy


B. the city developed


C. it is too noisy


D. it is getting overpopulated

32. The word “converted” in the last sentence is closest in meaning to_______.


A. built
B. consumed

C. made

D. changed
VII. Rewrite each of the sentences so that it means the same as the one printed before. (2 points)
33.Because of their good performance, they won that match.

→Because they ……………………………………………
34.My father teaches Math well.

→My father is …………………………………………….
35. I’m asking you this question for the third time.

→This is……………………………………………………….

36. Those outdoor activities are suitable for young children.

→Young children should take …………………………………..
37. The film “Titanic” is on Red Cinema. Have you seen it?

→Have you ………………………………………………………..
38. He has to pay the bills before the fifth of the month.

→The bills …………………………………………………………..
                                                                   --- THE END ---
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